Stats help 1


Exercises

1. Complete the hypothesis test for all adults (men and women) by performing the following steps. Use a level of significance of a = 0.05.
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The table lists the personal income and outlays (both in trillions of dollars) for Americans for 11 recent years.
	Personal income, x
	Personal outlays, y

	4.5
	3.7

	4.9
	4.0

	5.0
	4.1

	5.3
	4.3

	5.6
	4.6

	5.9
	4.8

	6.2
	5.1

	6.5
	5.4

	7.0
	5.7

	7.4
	6.1

	7.8
	6.5


Organize the following data in a scatter plot. Then find the sample correlation coefficient r. Determine whether there is a positive linear correlation, negative linear correlation, or no linear correlation between the variables. What can you conclude?
1. The ages of eight cows (in years) and their milk production (in gallons) per week

	Age,x
	4
	4
	6
	7
	7
	8
	10
	11

	Milk production,y
	37.0
	35.4
	33.3
	33.1
	32.3
	33.7
	30.2
	29.6


2. The annual per capital sugar consumption (in kilograms) and the average number of cavities of 11-and 12-year-old children in seven countries

	Sugar,x
	2.1
	5.0
	6.3
	6.5
	7.7
	8.7
	11.6

	Cavities,y
	0.59
	1.51
	1.55
	1.70
	2.18
	2.10
	2.43
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